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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 2nd Semester Examination, 2021  

DSC2-MATHEMATICS 
ALGEBRA 

Time Allotted: 2 Hours Full Marks: 60 

ASSIGNMENT 

The questions are of equal value. 
The figures in the margin indicate full marks. 

 GROUP-A
িবভাগ-ক 

1. Answer all the questions from the following:
িনmিলিখত সবgিল  pেűর উtর দাওঃ 

2×5=10

(a) Verify Cayley Hamilton theorem for the square matrix ⎥
⎦

⎤
⎢
⎣

⎡
50
12

. 

⎥
⎦

⎤
⎢
⎣

⎡
50
12 বগর্ ময্াি¹kিটর সােপেk Cayley Hamilton উপপাদয্িট যাচাই কর। 

(b) A relation U is defined on ℤ by yxU  iff 22 yx �  divisible by 5. Prove that U is an 
equivalence relation on ℤ. 
অখč সংখয্াসমূেহর েসট ℤ-এর ওপর একিট সmn U -এর সংjা এইrপঃ 
 22 yxyx �¾U , 5 dারা িবভাজয্। 
েদখাও েয U একিট সমtলয্তা সmn (equivalence relation)। 

(c) Use Descartes’ rule of signs to find the number of positive roots of the equation 
03246  ���� xxxx . 

‘Descartes’ rule of sign’ (Descarte-এর িচh সংkাn সূtgেলা dারা 
03246  ���� xxxx  সমীকরণিটর ধনাtক বীজgিলর সংখয্া িনণর্য় কর। 

(d) If 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
 

001
100
010

A , find the rank of 22 AA � . 

যিদ 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
 

001
100
010

A  হয়, তেব 22 AA � -এর rank িনণর্য় কর। 

(e) Show that the map :f  ℝ ⟶ ℝ defined by 2020)( xxf   is neither injective nor 
surjective, ℝ being the set of reals. ℝ যিদ বাsব সংখয্ার েসট হয় এবং :f  ℝ ⟶ ℝ অেপkকিট 2020)( xxf   dারা সংjাত, তাহেল 
pমাণ কর f  অেপkকিট এৈকক (injective) িকংবা উপির (surjective) েকােনাটাই নয়। 
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 GROUP-B 

িবভাগ-খ 

 Answer all the questions from the following 

িনmিলিখত সবgিল  pেűর উtর দাও 

12×3=36

2.  (a) Prove that 22
2logtan

ba
ab

iba
ibai

�
 

⎭
⎬
⎫

⎩
⎨
⎧

�
� . 

pমাণ কর  22
2logtan

ba
ab

iba
ibai

�
 

⎭
⎬
⎫

⎩
⎨
⎧

�
�

 । 

4

(b) Reduce the equation 016123 23  ��� xxx  to its standard form and then solve 
the equation by Cardan’s method. 

016123 23  ��� xxx সমীকরণিটেক ইহার Standard form-এ rপাnিরত কর এবং Cardan 
পdিতেত উk সমীকরণিটেক সমাধান কর। 

4

(c) Prove that the roots of the equation 
xaxaxax n

1111

21
 

�
��

�
�

�
LLL  are all 

real, where naaa ,,, 21 LL  are all positive real numbers. 

pমাণ কর েয 
xaxaxax n

1111

21
 

�
��

�
�

�
LLL  সমীকরণিটর সকল বীজgিল বাsব, 

েযখােন naaa ,,, 21 LL সকেল ধনাtক বাsব সংখয্া। 

4

  
3.  (a) Show that )181(mod11920 � . 

pমাণ কর েয )181(mod11920 � । 

3

(b) Using Euclidean Algorithm, find two integers u and v satisfying 
1352971269  � vu . 

1352971269  � vu  সমীকরণেক সীd কের এমন dিট পূণর্সংখয্া u এবং v েক Euclidean 
algorithm-এর সাহােযয্ িনণর্য় কর। 

4

(c) Use Principle of Mathematical Induction to prove that for all ±n ℕ, 
 1!)1(!.!2.2!1.1 �� ��� nnnLLL  

গািণিতক আেবশ নীিতর (Principle of Mathematical Induction) dারা েদখাও েয সকল  
±n ℕ-এর জনয্ 1!)1(!.!2.2!1.1 �� ��� nnnLLL . 

5

  

4.  (a) Use Cayley-Hamilton theorem to find A100, where 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
 

010
101
001

A . 

যিদ 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
 

010
101
001

A  হয় তাহেল Cayley-Hamilton উপপােদয্র সাহােযয্ A100 এর মান িনণর্য় 

কর। 

4
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(b) Find the eigenvalue and the corresponding eigenvector of the matrix 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

220
101
122

. 

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

220
101
122

 ময্াি¹kিটর আইেগনমান (Eigenvalue) এবং ইহার আইেগন েভkর 

(eigenvector) gিল িনণর্য় কর। 

5

(c) Let O1 and O2 be two distinct eigen values of a real square matrix A. If u and v are 
eigen vectors of A corresponding to the eigen values O1 and O2 respectively, 
examine whether vu �  an eigen vector of A. 
ধর O1 এবং O2 েকান একিট বাsব বগর্ ময্াি¹k A-এর dিট পৃথক আইেগন মান। যিদ u এবং v যথাkেম 
O1 এবং O2 আইেগন মােনর আইেগন েভkর হয় তেব vu � , A ময্াি¹kিটর একিট আইেগন েভkর হেব 
িকনা যাচাই কর। 

3

  

 GROUP-C
িবভাগ-গ 

 Answer all the questions from the following
িনmিলিখত সবgিল  pেűর উtর দাও 

7×2=14

5.  (a) If a, b, c are three positive rational numbers then prove that  
যিদ a, b, c  িতনিট ধনাtক মূলদ (Rational) সংখয্া হয় তাহেল pমাণ করঃ 

 
cba

cba
cba

cbacba
cba
cba ����

⎟
⎠
⎞

⎜
⎝
⎛ ����⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
��
��

3

222
 

5

(b) If A, B are square matrices of same order over the field F, A is non-singular prove 
that the matrices B and ABA–1 have the same eigen values. 
যিদ A এবং B dিট সমান kম (order)-এর বগর্ময্াি¹k েযখােন A হল non-singular, তাহেল pমাণ 
কর B এবং ABA–1  ময্াি¹kdেয়র আইেগন মানgিল একই হেব। 

2

  
6. Determine the conditions for which the system of equations 

 1 �� zyx  
 bzyx  �� 2  

 275 bazyx  ��  

admits of (i) only one solution (ii) no solution (iii) many solutions. 
একিট মাt সমাধান (i) েকান ্  সমাধান েনই (ii) একািধক সমাধােনর জনয্ 
 1 �� zyx  
 bzyx  �� 2  

 275 bazyx  ��  

সমীকরণ তেntর (system of equations) শতর্gিল উেlখ কর। 

2+2+3=7

 ——×—— 
 


